
Page 1 of 3 

Seat No.: ________                                                      Enrolment No.______________  

GUJARAT TECHNOLOGICAL UNIVERSITY 
DIPLOMA ENGG.- VI

th
 SEMESTER–EXAMINATION – MAY/JUNE- 2012 

Subject code: 360609 /2360609            Date: 30/05/2012        

Subject Name: Advanced Transportation Engineering 

Time: 10:30 am – 01:00 pm        Total Marks: 70 

Instructions: 
1. Attempt all questions.  

2. Make suitable assumptions wherever necessary. 

3. Figures to the right indicate full marks. 

4. English version is considered to be Authentic 

Q.1 (a) (i) Explain reaction to traffic situations. 

(ii) Distinguish between airport and aerodrome. 

(iii) State purpose  of hydrographic survey   

03 

02 

02 

 (b) Spot speed studies were carried out at a certain stretch of a highway and the  

Data collected are summerised in the table below 

Speed 
Range 

kmph 

0-10 10-20 20-30 30-40 40-50 50-60 60-70 70- 

80 
80 

-90 

No. of 
Vehicle 

observed 

0 11 30 105 233 216 68 24 0 

 

07 

Q.2    

 (a) Define the following : 

Threshold,         Lift off distance,       Apron,          Running speed,  

Time headway,    Traffic density,        Passenger Car Unit. 

07 

 (b) (i) State various resistance to motion of vehicle and explain grade resistance. 

(ii) Define flow and space headway. 

05 

02 

  OR  

 (b) (i) Explain fundamental diagram of traffic flow. 

(ii) State methods of Origin and Destination survey. 

05 

02 

Q.3    

 (a) Determine the length of the runway required from following data   

    i. Basic runway length under standard atmospheric condition =   1800 m 

    ii. Site elevation = 1000 m above M.S.L. 

    iii. Aerodrome reference temperature = 17° C 

    iv. Effective gradient = 0.5 % 

07 

 (b) (i) State description of wind and wind velocity for  Beaufort number  8 and 11. 

(ii) State importance of gear head, tail width and wheel base. 

(iii) State use of wind cone 

02 

03 

02 

  OR  

Q.3 (a) (i) State important characteristics of aircraft from point of view of Civil 

Engineer. 

(ii) State points to be considered for taxiway design. 

04 

 

03 

 (b) (i) State facilities required for terminal building. 

(ii) State purpose of stop way and clearway. 

05 

02 

Q.4    

 (a) (i) Explain effect of road and road users on accident. 

(ii) Define Travel time and Design speed. 

05 

02 

 (b) (i) Define spot speed and explain any one method of measurement of spot speed. 

(ii) State methods of traffic volume study. 

05 

02 

  OR  
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Q. 4 (a) (i) State advantages and disadvantages of Traffic signal. 

(ii) Explain engineering measures for prevention of accident. 

05 

02 

 (b) (i) State traffic management measures and explain any one in detail. 

(ii) State methods of curb parking. 

05 

02 

Q.5    

 (a) (i) Explain Littoral drift. 

(ii) Draw graphic representation of the tidal phenomena. 

03 

04 

 (b) (i) Define : Harbour, Dock, Breakwater 

(ii) Give full form of following : 

      DME ,    TACAN,    ADF,  ILS 

(iii) State types of jetty. 

03 

02 

 

02 

  OR  

Q.5 (a) (i) State causes of beach erosion. 

(ii) Explain various types of Groynes with neat sketch. 

03 

04 

 (b) (i) Explain Dolphins. 

(ii) State necessity of navigational aids and explain range lights. 

03 

04 

 

 

************ 

Rö}dî>Rö}dî>Rö}dî>Rö}dî>==== s= (1) સમ�વો – 
ાફ
ક પર
��થિત સામે �િતકાર =

(2) એરપોટ�  અને એરો�ામ વ�ચે તફાવત જણાવો.=

(3) હાઇ�ો'ા(ફક સવ)*ણના હ+ઓ જણાવો- ુ . 

03030303 

02020202 

02020202 

 ^= હાઇવેના અ0ક ભાગ પાસે �પોટ �પીડનો અ5યાસ કર
 નીચેુ ની િવગતો એકઠ
 

કરવામા ંઆવી.=
Speed 
Range 

kmph 

0-10 10-20 20-30 30-40 40-50 50-60 60- 

70 
70- 

80 
80 

-90 

No. of 
Vehicle 

observed 

0 11 30 105 233 216 68 24 0 

=

07 

 = =  

Rö}dîwRö}dîwRö}dîwRö}dîw==== s= :યા;યા આપો :                                                                    

=ેશો?ડ,        લીBટ ઓફ Cતર,    એ�ોન,            રનDગ �પીડ,  =

ટાઇમ હડવે- ,   
ાફ
ક ઘનતા,        પેસFજર કાર Gનીટુ  

07 

 ^= (1) વાહનની ગિતના િવિવધ અવરોધો જણાવી 'ેડ અવરોધ સમ�વો.=

(2) �પેશ હડવે અને Bલો ની-  :યા;યા આપો. 

05050505 

02020202    
  svgcsvgcsvgcsvgc=  

 ^= (1) 
ાફ
ક Bલોનો ફડામેJટલ ડાયા'ામ સમ�વોં .=

(2) ઓર
Kન અને ડ�ટ
નેશન સવ)*ણની ર
તો જણાવો- .=

05050505 

02020202 

Rö}dî@Rö}dî@Rö}dî@Rö}dî@==== =   

 s= નીચે આપેલ િવગતો ઉપરથી જMર
 રનવેની લબંાઇ મેળવો=

(1) �માPણત વાતાવરણની ��થિતએ 0ળૂRતૂ રનવેની લબંાઇ =1800 મી 

(2) �થળની Uચાઇ = 1000 મી. M.S.L.ની ઉપર 

(3) એરો�ોમV ંસદંભ� તાપમાન ુ = 17°  સે.X                                

(4) અસરકારક 'ે(ડયટં = 0.5 %        

07 
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 ^= (1) [Gફોટ�  નબંર ુ 8 અને 11 માટ પવનની ગિત અને પવનV ંવણ�ન જણાવો- ુ .=

(2) ગીયર હડ- , ટઇલની પહોળા- ઇ અને :હ
લ બેઝની અગ]યતા જણાવો. =

(3) વીJડ કોન નો ઉપયોગ જણાવો.=

02020202 

03030303

02020202 

 = svgcsvgcsvgcsvgc  

Rö}dî@Rö}dî@Rö}dî@Rö}dî@==== =   

 s= (1) િસિવલ ઇજનેરની ^_`ટએ એરaાBટની અગ]યની લા*ણીકતા જણાવો. =

(2) ટ*ીવે ના આલેખન માટ cયાનમા ંરાખવાના 0દાઓ જણાવો- - ુ . =

04040404 

03030303    
 ^= (1) ટમdનલ મકાન માટ જMર
 eિવધા જણાવો- ુ .   

(2) �ટોપ વે અને fલીયરવે ના હ+ઓ જણાવો- ુ .                            

05  05  05  05  

02020202    
Rö}dîARö}dîARö}dîARö}dîA==== =   

 s= (1) ર�તા અને ર�તાનો ઉપયોગ કરનારની અક�માત ઉપર થતી અસર 

સમ�વો.                                                             =

(2) 
ાવેલ સમય અને આલેPખત ગિત ની :યા;યા આપો. 

05050505    
 

02020202 

 ^= (1) �પોટ �પીડની :યા;યા આપી તેને માપવા માટની એક ર
ત સમ�વો- . 

(2) 
ાફ
ક વો?Gમ �ટડ
ની ર
તો જણાવોુ . =

05050505 

02020202    
 ==== svgcsvgcsvgcsvgc  

Rö}dîARö}dîARö}dîARö}dîA==== =   

 s= (1) 
ાફ
ક િસgનલના ફાયદા અને ગેરફાયદા જણાવો.     =

(2) અક�માત અટકાવવાના ઇજનેર
 પગલા ંસમ�વો.=

05050505

02020202    
 ^= (1) 
ાફ
ક આયોજન માટ ના પગલા ંજણાવી ગમે તે એક સમ�વો- .       

(2) કબ� પાકhગની ર
તો જણાવો. 

05050505 

02020202    
Rö}dîRRö}dîRRö}dîRRö}dîR==== =   

 s= (1) લીટોરલ �
Bટ ને સમ�વો.          =

(2) ભરતીની ફ
નોમેના ને 'ાફ
કલી દશા�વો.                                  =

03030303 

04040404    
 ^= (1) :યા;યા આપો : હાબ�ર,    ડૉક,       jેકવોટર       

(2) kણૂ� Mપ લખો : 
  DME ,    TACAN,      ADF,     ILS           
(3) lmીના �કાર જણાવો. 

03030303 

02020202 

 

02020202    
 = svgcsvgcsvgcsvgc  

Rö}dîRRö}dîRRö}dîRRö}dîR==== =   

 s= (1) બીચ ધોવાણ થવાના કારણો જણાવો.                        =

(2) િવિવધ �કારના 'ોયJસને આnિત સ(હત સમ�વો =

03030303

04040404    
 ^= (1) સમ�વો : ડો?ફ
ન      =

(2) નેવીગેશનલ એઇડની જMર
યાત જણાવી  રઇJજ લાઇટને સમ�વો- .                               

03030303 

04040404 

 

************ 


